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2. 'sadluGoTsmer’ GTENELD [T

1 He invenled lelescope 1610, he observed thal
Venus exhibited a full set of phases similar to that of the
Maoon

2. He was the project director of India's first mission
to the moon launched by India's national space agency,
the ISRO

3. He is known as father of Evolution

4 He hypothesised that plants can “feel pain,
understand affection etc

Find and name the scientist who are mentioned in the
above statements in the order

Al lsaac Newton , Mayilsamy Annathural, Charles Darwin,
Jagadish Chandra Bose

B) Galileo, Mayilsamy Annathurai, Charles Darwin,
Jagadish Chandra Bose

C) Einstein, Charles Darwin,Mayilsamy Annathurai,
Jagadish Chandra Bose

OiEinstein, Charles Darwin,Mayilsamy Annatburai,
Sir.C.V.Raman

1 Who wrote the book “The Story of my
Experiments with Truth”

A) Nehru

C) Ambedkar

B) Gandhi
D) Bharathiyar

2. Who is called as Father of Indian
Renaissance

A) Bala Gangadara Thilagar

B} Mahathma Gandhi

C) RajaramMohanry

D) Rabindhranath Tagore
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A) Sl B) semin

C) &enr D) e

5. @ridrsiisr Ghrhesmgpdun se)?

A) SpbEirm B) wuips(

C) &immasr 0) = gdimalirGssn

6. aRaTieTs SnESH  sEmUhEeTaT

i aTa?
A} Guome sumED
C) Gmmemm

B) nwestogmsnr
D) aymemrmar s iy Gmen

7. sulusé SPUmD eTemm s i
w1 ?

A) erlungm B) shims

C) Sy ydam D) aufdaf]

8. sandgslls wHubh eply sg ?
A) dmafren B) mimmidsy

C) [Elsmwn D) pusmer

0} ergyniyemar

10. s BhAlLGdlnis weflgaflar @i
Siplimatlen  sremoresallaeme,
A) 72 B) 82 C) 92  D)100

M. pudE  agsmar HAndrsimsr
a2 qranen 7
A)5 B)3 C)2 D)4

12. gaflmg gumin Gumgwar ...
Ay 1flioin B} eetl ppsoin
C) il dhlusbling D) Lmig

13, Glanisas 67607 L) Gliam gy eflair
2 STTEIAID o (D,

A) Blmamumsm B) Gmdhfl

C) sipsmomem D) sefhosmir

4. Which country Is called as Sugar Bowl of
the world 7

A) Cuba

C) China

B) Canada
D) Russia

5. Which is India's Granary for paddy?
A) Andhra B) TamilNadu
C) Karnataka D) Uttar Pradesh

6. Which state has Sundarbans forests?

A) West Bengal B) Rajastan

C) Kerala D) Arunachal Pradesh

7. Which river is called as "Sorrow of
Bengal"?

A) Dhamodhar 8) Ganga

C) Brahmaputra D) Hooghly

8. Which organ is involved In respiration?
A) Kidney B) Lungs
C) Heart D) Brain

{A) Lungs BJ Heart C) Kidneys D) Bones

10. The number of human heart beats per
minule is
A) T2 B) 82

c) 92 D)100

11. How many kidneys do we have 7
A)5 B)3 €2 D4
12. The object that give light ...

A) image
C) Reflection

B) Light sources
D) Toreh

13. Brick is an Example of Materials

Iﬁ;} Smoaoth
C) Hard

B) Plastic
D) Clay
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A) silsim Gl B) wuufl

C) = ausih D) mjsmariiLd

17. Glasusumiy ... 1 |
amipdasiLfidng

AY  fm B) dlaulny

C) uEFeme D) Loghersir

18, mfl @ibusdsy bl ... s

Geriman

A) epsirmmeug
C) mentanraig)

B) (alysmorLimsusl
D) upgmneug

19. ss Gamar wifleem symdih o ararm?

A) Glsusiafl

C) Glessmi

B) ugsn
D) Glmlnpuysi

20. wirsst, @Endl, = pmersSiptiie
STeuTddia iU ?

14, When the force acting on the object it
makes move, We say Il

A) Work B) Joule
C) Energy D) Force
15. Next image ......

A) B) C) D)
16. The Universe is a vast expanse of ...... ?

A) Space B) Earth
C) World D) Galaxy

17. Mars isdescribed as the ................

planet 7
Ay Blue B) Red
C) Green o) Yellow

18. In the solar system Earth is the ...
Planet?

A) Third

C) Faorth

B) Second
D} First

19, Which planel is neares! lo earth?
A) Venus B) Mercury
C) Mars D) Neptune

20. Turmeric, Ginger and Polato belong to
which part of plant?

AY Gar B} smi A) Root B) Vegetable

C) et D) dlsmar C) Stem D) Branch

280y sy gtppeoRr elibng i 21. How many seeds are there in Pea?
Blmeeun? A) 3 B) 14 C)5 D)6

A) 3 B) 14 )5 D)6

22, graurhesgméEin, allsnigasm  Gumsim)
o ey o swar(hl aTeITHY  SedwL gl EmaT
A) ey B) meimenissir

22. Who discovered that Planls are alsa
having feeling like animals.

A Abdul kalam B) Einstein

C) Gpsga spgGumiy D) £.6il.qmosn C) Jagadesh Chandrabose D) C. V. Raman
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(A) spaflEGaisme B) san#lseh

C) &l &g D) el g

A) Sibamssen e
B) it leorth

C) anmd @y Hemi
D) efkusmlss o

25, @idumellss s s
(p@sil i audlb@in oo a7
B) aysmsmmp

D) gfler

A) ggmiienamor
C) Guig sufish

26. pingwmaflen wrenGles T srer
SpESILED BETD agi?

A) Glsuall
C) (piemus

B) umigmm
D) Gamubysgmm

27. 36 wmmid 84 &g el Gufl
Glumgeree smyemfl 7

A) 4 B) 6 C)12 D) &

28, sult seblsr wrouerey 154 sar Gled
Diper gymn?

A) 149cm B) 11em

C) 7ecm D) 122em

29. 150 il dergparar muilds 1750
Banpsitan  peml_Gusmsmi &l_dha 13
siilibimgaer  sydlstims). stafli guflsblen
Goumin wetlfE sommer &lEor flor

A) 90 B)100  C)110 D) 150

30.2.,6,18.54,162,..... 1458 7

A)27T4  B)4B6  C)1236 D) 1032

31.149,16,25,..49 7

A28 B)30 C)az D) 36

32.0 srandds o figaiu@b §i sy
Glesiehime 7

A) UlsmmunD B) emasui

C) [Elemmest D) (@Gemmiasremaion

23, What we called the process of food

preparation of the Plant?
A) Photosynthesis B) Respiration
C) Conduction D) Assimilation

24, June 5this called as....

A) Children's day

B) Teachers' day

C) Environment day
D) Farmer's day

25. Which state is holding the first place in
Jute production in India?

&) Jharkhand
) West Bengal

B) Assam
0} Orrisa

26. Manchester of India

A} Delhi
C) Mumbai

B) Patna
D) Coimbatore

27 The Highest common factor of 36 and 84
is?
A) 4 B) 6

C) 12 D)8

28. The area of circle is 154 am?, its radius is?
A} 149cm B) 11 cm
C) 7cm D) 122cm

29, 150m long train crossed 175m long
platform In 13 sec. Calculate the speed of
train in km/hr?

A) 90 BJ100 C)110 D) 150
30.2,6,18,54,162,....1458 7

A)274  B)486  C)1236 D) 1032
31.14,9.16,25,..497

A)28  B)30 C) 32 D) 36

32. The water observed by the plant moves
through?

A) Phloem

\ B) Xylem
C) Leaves

D) Chlorenchyma
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A) SlmeusehgLir

B) Guisesmm -

C) ufanfeam L

D) e Hhydif

34,2 s oot dlmnn  syayetlssouiin
A) sopsy 22
C) wmig 22

B) wnié 8
D) eOsr 5

35. 60 %m@ ...... o (S EmEE (1

(pem Lo
A) 4 B)3 C)5 D)6
36 ppsmemiflsir  appliem.  SiENS ...
A) Buggmei B) Gimein
C) mminiyjssin D) snildsbluib

37.6CLi, SGondlomd, sfermg,  Geaupon
SYeTHED  (prmmdG e Gluwr?

A) IS B)IS cysi Dy Ssi
38, Gousd e DieNS. ...

A) f B) aflmy
C) &iEaumelym D) el

39. Guisdléd  _oflan sEie0
wsREmg ?

A) umem L silmhg Slullss

B) gyefsr b Glusir &@GemsaisE

C) ummGmmilsdmha urgianses

D) oymendud

40, Gndiflismy wsmsmfli: Wil agena
aemHmer suEn 7

A) 1-5 gystor(Gisen

B) 100 gyeir(Giss

C) 500-1000 sz 6001 (plessir

D) 23 -29 sy

41, yll semsmar@GETom  mpan Sme...
A) s sdsilmis s
B) &lpsdliishsl Cobe
C) Gamélslmhs an&HeE
D) Gupfdighg Spse

42. el L STRITEMGINN  EITAETE. ..

25411 =(?)x3=(7)-8=(2)+(4)=25
A) (36,102, 100)  B)(36, 108, 100 )
C)( 38,108, 102 ) D) ( 36, 108, 96 )

33 \ikram Sarabal Space centre is located at

A) Thiruvanandhapuram
B) Bangalure

C) Sriharikota

D) Mahendragiri

34 World water day is celebrated on’

A) April 22 B) March 8

C) March 22 D) June 5

35. Leap year occur once in ............ year.
A) 4 B)3 C)5 D)6
36. Funtamental unit of brain is

A} Neuron B} Nephron

B) Nerves D) Epitheliyum

37.Name of System to measure the meter,
kilogram, second is _....

A) 1S B IIS C) sl D) Sl
38. What is the unit of Speed ?

Almeter B)second
C)Kilogram D)meterisecond

39. Folic acid Is used for.........

A) Prevention of heart stroke
B} Ferlility in men and women
C) Prevention of cancer

D) All the above

40 How many years a plastic bag takes to
degrade in the soil?

A) 1-5 yrs

B) 100yrs

C) 500-1000 yrs

D) 23-29yrs

41. The direction of earth’s rotation is,

A) North to South
B) East to West
C) South to North
D) West to East

42. Find the missing number....

25+ M =(?)x3=(?)-8B=(7)+(4)=25
A} ( 36, 102, 100) B) ( 36, 108, 100 )
C)( 38, 108, 102 ) D){ 36, 108, 96 )



f;,m\ 43. wuhmssenae ol wreflsm 43 Why thermometer is placed in the armpit
¥

2@l amaiiLig a7 of children?
& i e eSlighim A) Children won't swallow it
LOIT_ L [TITERaim 3
T y . B) To slop the child weeping
B) @ubmssT ojuaims 5(6e C) The temperature of armpit will be same as
_.xusr  C) oyd@eflsr Geulflamsinh o1 sbler that of the body
Glﬁuﬂulﬁlmmmth SFLOLOTES @@&s@m D) Easies! place to measure
D) 216 Celusme oeTSHs SaULnTeT
@ 1o
44. Sgsem_aniii siluissTs oL 44 Which part of the human body has no
2.0y siE? sweating?
A) semau B) s
C) 2a{ D) seturmer a) Head b) Hand

) Lips d) eyes

A5 AN gt Qo Ml 45, What is the bailing point of water in Ooty?

sTRLILRTE?
A} 100 wdfifl Ga  B)101 walfl Gl A) 100 Degree C B) 101 Degree C
C) 98 pdifl & D) 0 wdifl Gle C) 98 Degrea C D) 0 Degree C
46. aPids @Ry B siGUg) 46. When the next Solar Eclipse will occur?
m(gffﬁ'lpjgj ? i 5 A) November 30 B) December 25
A) meuburi 30 B) patur 25 C) December 26 D) November 14
C) yeii 26 0 maumd 14
47. wermsm  ewnt aiseug) 667 47. Why flowers smell 7

A) Gamafls

) +$mm£','. mrr A, To attract honey bees
B) wsyhs Caidmene B. For pollination

C) memr @O Seng (@S C. To indicate their habitat
D) Elsmau gyemardSliEi D. All above

48. &l Gunend Qenflonarimer wehes @y 48 Why the construction labourers wear
amabsnan  ymflag sHnens? yellow helmet?
A) s s st A) Company's identity
|B) Glgmflsunsmi Fapemi B) labourers' uniform
©C) sl Gurmlasaflalmis s C) to Save head from building materisl
i ngdﬁnﬂmliimﬁ'ﬂl D) for good luck
D) aydlisp sdihmre

49, ayfi B Ggniysafid uesfunmhob 49, Why the drainage workers die during

Clamfleonariaar @nlughE e cleaning septic tanks?
sTaTaT 7

A) smavaiidl B) aflngsumy A} Due to fate

C) Gursiamsriiamf B) Due to poisonous gas

C) Due lo bad work

D) @emas argiayblimen D} None of these

50. giipss&ih  smpaumnmisd] mem Glumab
@ 50. In TamilNadu Excavation is going on at
A) Guosgp B) &y

&ifl D) amdf A) Meladi B) Keezhadi
S o ;o C) Sathurakiri D) Eelakiri
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A) spufestt aupdeions  ydElsons o s

B) spuiaan Ufleitem oS

C) spuimir sdnll obe) sghoeiamd

D) syrurmst syflmiores o aolpddlsimmen

:‘:?E.rrgu SNMIEF  @pame Qaiiuddeme
B) @i
D) sflworemn

A) smerdseilem
C) [Eimils

53. Gapdlny Ly Raspir

A) sllsonisges BT Sdline,
seml Glrimnin’ e LigH

B) usfigiesr mowmn i sdlhg sme
Glaiinn’ Ll

C) eflsuring, weflsi meom’L &g s
Glaiunn't g

(D) silsudus, osflsmesm GG
S@dainL UGS

54. edldlmig egi?

A) mrdmisred, LT, Glesh, mammn
B) wufli, Glmel mmimresmen G
C) wlli, mrio,Cmsh, ErmmEsTeD,
D) mopoisrs, momm, i, Gk

55. efhurser - suflemasmiu Gadey Glend..

MG - fgssm - STET g - sl &flumi

[auiensi ...

A) samasgref]l -Gomsiniler -allgnemmraf] -
iprrimaf]

B) aflfgreyrefl - Caalnlen -sbgeussnefl -
saf]

C) Gaenlan -afgssrafl - ssgnismmafl -
vl

D) muenfl-Gametifisr -aflgpumnafl -

56, splammrantla Blornsar [Gldme
A) G B) Gempi
C) LisasuaT D) uimstEmg LT

51. Why the manual labourer need more
food?

A) They usually eat maore
B) They are hungry people
C) They are illiterate

D} They work more

52. Which is not polluting anvironment?

A) Cycle
C) Train

B) Car
D) Aeroplane

53. Mational Park -

A. Prohibited area for the animals
movement

Prohibited area for human  movement
Prohibiled area for both the animals and
human,

Allowable area for human and animal
movement

o om

54. From which to which ?

A) Nursery,Crops,Paddy,Seedling
B) Crops Paddy, Nursery Seedling
C) Crops, Seeadling, Paddy, Nursery
D) Nursery, Seedling, Crops, Paddy

55. Choose the correct order
Gandhi -Edison- Socrates -Lakshmibai They
are ...

A) Philosopher - Father of the nation -
Scientist - Queen

B) Scientist - Father of the nation -
Philosopher- Queen

C) Father of the nation -Scientist -
Philosopher- Queen

D} Queen - Father of the nation -Scientist-

Philosopher

56. Following Is not in Trios of the

kings/Moovendhar.
A) Cherar B) Cholar
C) Pallavar D} Pandiyar
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61,
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62.
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C)
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yblsurtuenst @ GaunenbiesyLam
aflememrpflupnGurg)  GausfluliiEin  sumy

CO: By CO
an rau  oyd&ma(h D)man res

. GlgsmyGHn o arer wesfl. (Bl

YL EST S ETETEE THEHEmET (L
abr suugdh endage Gensmemn?

20 B) 21
22 D) 24
30z urdlure eugEg 1 0me igamTsy

SUQELN  ETamnT 7

29 B) 40

70 Dy 43

wthe  Gamefliy (Pl ssnnrin
Hlepdlng 7

wAliLmLpeiT B) wull

Fanfl D) pupsamallan

. 12-15  muidhle i ée
GamadiuGha &G,

g3l [hTEheT i

2000

2500 B)

3000 ) 2300

.panfle = (el (fleayn sigeoromsm LG
&TE7?

LT &L B) eapl Gy
N D)  erammioe (L)

57. The cause of waves al Sea..

A) Gravitational Force of Earth
B) Air

C) Magnetic Force

D) Gravitational Force of Moon

58. Why do tree prop roots grow vertically
downwards?

A) To hold the tree

B) Since they could nol grow upwards

C) Since they could nol grow side

D) Gravitational force

59. Gas released when acid react with
metals

A) COz
C} Nitrous oxide

B) CO

D} Hydrogen
60. How many times a day does the minute
and hour hands of the clock coinclde?

A) 20
C) 22

B) 21
D} 24

61. Divide 30 by half and add ten. Whal do
you gei?

A) 25
c) 70

B) 40
D} 45

B2, Solar Eclipse oceurs in ........

A) Jupiter
C) Saturn

B) Earth
D} All these

53, Calorie intake for 12 to 15 year olds a day

is....
Ay 2500 B) 2000
C) 3000 0y 2300

64. Which is the hardesl part of our human

body?
A) Foot B) Joint bone
C) Hand 0) Tooth enamel
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65, @i wean_wsdar she Ganer o
Glaunomerey?

A) aeaof]
C) L

B). Glsusiafl
D) sTainblsmsn

B6. mLsy Bfld osrem o Dflsr sgailblan
sTeLlsUeT Y7

A) 3.5% B) 5.2%
C) 2.5% D) 3%
67. ysilflss smu Bflsr Faaisn
Al 8% B) 4%
c) 2.5% D) 3%

68. o semen eumilled [Rems Ghosy)
eflpprigin Gumg) @lanmlienLimi
GlasmpsnLin. allprgma e Glawsme
[ gipsmeniiaar  eriiLaE
sl GOuESsdns 7

A} ppsmarufils sl

B) Qumeapemaniflsr Lremf)

C) wmerg g

D) flewr ppsmer  (gisenin

69. mmimer eram eUGLTEpEID ErHmS
Fligd Glamsim(b s msr?

A =of Gleutn Hamssmy e lsmaedls
b

B) ssmmamqd Gy @blnmTD

C) ghusparsn soadsoy Gup

D) sunesmeamil  © o FmTy

TO. e ignyemen WG ermen IS
(mismar s aiiD  (Lpsmm

Al ume [Elmesl

B) Gamni Esmesriiy

C) amamysor  [Ehmamriig

D) &L [glememriiy

65, Which planel is hottesl in the salar

system 7
A) Saturn B) Venus
C) Mercury D) Mone

66. What is the percentage of salt in sea

watar?
A) 3.5% B) 5.2%
C) 2.5% By 3%

67. Pure water percenlage on earth
A) 6% B) 4%
Cy2.5% D) 3%

68. After chewing the food, it reach to
gastrointestinal tracl by swallowing. The
action of swallow Is controlled by

A) Central part of brain

B) Cerebral cortex

C) Brain stem

D} Hind brain-Medulla cblongata

69.This is why dogs are always stretching
their tongue while running?

A) To balance, body tempeture
B) Because of the search for food
C) To get the power to run

0} To feel the smell

70.Electrical components in the houses are
connected in

A) Parallel connection

B) Serial connection

C) Ordinary connection

D) Phase connection
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71, wernrmemeSlger B @oflisdurs
@i iGasir ?

1. mwmr semem somn  Blspaurs e
misa  gemam  aufliume  Glauafiun)
2y ailureimey.

2. safiurgmde Goemnurar Glailind
wesurensmiiss e s Biflsdhmhs)
sREEE CEreaETs)

3. wemerursmannuler  sugann

4. weasrursmss i) e aTET i

Al 1 wl(GnD B) 2 wl(n

C) 1 wpmen 2 s D) 3 wimh 4 af

72. anersy B sms Gumiios fepams)
2_ganTl mehlmeE)?

A} srehiehmmarfiony

B) (pn e ardlGimmafhiy

C) sparflfilsuamsy

D) geneflanensy

73. eilmégs Sifluila smmblammin ammigesm
SEATELD. ..

A) urly @esalleng

B) asugyl uTeis

C) metmgiemen il ellms (sEgE aflams)

D) e B uam,

74, Efgger meudbsOuc [emem  Gamsh
almaThgl STemTifHlalg) s 7

A stelGimmatiing

B) iy o srgiGlymafiony

C) semailsmana

D) eeerfl afluss

75. sewllsmarudleorsy ol sifwe:  swgn
Somil ssmemrdall LusTLESS0 LD
Glumgmst ...

A) BT B)  sihuaf]

C) &miusm en o Sanau(f)

D) musmiriumssr (oW Gumbsmi )

76, S@uammLSEe), S, ohian
Sy ks wirng Gusig  smbusD
Himd  Sameai

A) dlemmsols =yl umflas
B) = mb

C) Hlohosisn_

D) soundGesm umray

10

71, Why the water in the pottery is cool?

1), Caplllary action causes water to
evaporate from the mini-pores in the pot.

2). To evapaorate, taking the heat from the
water inside

3). Shape of the Pat

4). Minerals in the Pot

A) 1 only
C) 1 and 2

BE) Zonly
D) 3and4

72, Which physical phenomena is reason for
the formation of Mirage

A) Reflection

B) Total internal reflection
C) Refraction

) Polarisation

73 The reason to rising oil in the lamp wick
is_....

A) Surface Tension

B) Osmosis

C) Capillary action

) Adhesion

74. Why the stick appears bend in water

A) Reflection

B) Total internal reflection
C) Polarisation

D) Refraction

75. Which one of the following is used to
extinguish the fire caused by oil

Al Water

B) Woaol

C) Co”

D) Foamite

76. A grey colour powder which is mixture of
Limeslone, Clay, Gypsum and Sand

A) Plaster of paris
B) Manure

C) Cement

D} Mica Powder
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T7. sspublésme Sami s Famnie
Gam_msme GondEn  Gurg) Geuaflagmb
sumy &1g)”?

A} smamL e

B} suifsbliin

C) gaur m_ | &mmad)

D) amiuar me oy G

78, @My @hhusdls Wls op g
Glamremr. Gasmam a1 ?

A) eihuarper B) ol

C) wl D) Lmstr

79. sfwreaamanns @GGE

1. smsmemem (Eroblmeisr), G Grms
S dEhummey e srai GlammTladl e
IS 6s 66 LGS S

2. ol Geallufiso =.ser mer Hsmanbmrs
gl Lrdldsin { s
aflppgmema  dafir Gomil sraamuf

3. (psimenred, (Newemme, UhSa i e
SymETGEL USSREaTRIn UnSE (LipkEs
a@br upmes Gbosr  FE

A) 1 wmmis 2 &M 3 meaum

B) 2 M Yo 3 meum

C) 2 umma 3 afl 1 seauy

D) ppsirmie =if

80, ECG sllmrash

A) Electro Collective Graph
B) Emission Cause Gate
C) Elective Cathode Grid
D) Electro Cardio Graph

81. ppememiflsir e Uy Slsh  Buoblsbsun
ugdl asm s Gamemraing?

A) &g B) &am(hl &b

C) Eaiunn D) &uwsal

82 .50 waflarssr 50 Gsusmevsmiu
S50mnCsaflid (pigda (ppud eefls 1
waflar Gy Goemaenil 7 &5ema
mirgeiflsd g ?

A) 1 mmar B) 10 mmiamsr

C) 50 mmiamer D) 100w assi

83. s ereorememnr o5& sTwTTemTITSL
Glymes Slam_S@in sTemmamannr oG
stemmemenerd, GlananrE slsand  aigmb
stemnr 42, =g FTeET  TeOTE 7

AJG B)7 cr4 D)21

1

77 Which gas is evalved when you add
baking soda with lemon juice

A) Hydrogen

B) Helium

C) Sulfur dioxide
D) Carbon dioxide

78. Which is the most dense planet in the
Solar system?

A) Jupiter

C) Earth

B) Saturn
D} Mercury

79. Choose lhe correct option
1. Naphthalene and petrol are extracted
from crude oil

2. Experiance of unsteady balance regularly
due to dysfunction in the inner ear is
called "Maniere's disease”

3. Only Hummimg birds Is able to fly on all
sides

A} 1 and 2 right, 3 wrong
By 2nghl, 1 and 3 wrong
C) 2 and 3 right, 1 wrong
D} All are right

80. Expansion of ECG

A) Eleciro Collective Graph
B) Emission Cause Gate
C) Elective Cathode Grid
D) Electro Cardio Graph

81. The posterior mast part of the brain
associated with?

A) Ear

C) Heart

B) Spinal cord
D) Meck

82. If 50 humans can complete 50 jobs in 50
days, how many days does a man
complete a job?

A) One day
C) 50 days

B) 10 days
D) 100 days

B3. When a number Is multiplied by the same
numbear and then sublracled the same
number we get 42, YWhat is the number?

A)B B)7 C)4 D)21
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B4 Quméassy @il (x) semug
ni@dgorsa (¥) hpn s @l
(+) srsirugy sufidsarenid (-) Elmism
Sipeeior sunsunBisatlea gy #ifl?

A) 15x5= 2+1x1+1

B) 13+7=05+3-0+1

C) 63+7=40+16-0+1

D) 56-7=40-23+0 -1

85. flmawnpoih Guss o mmen
Garmatsm ... SLDWE Sy@i.

A) ublsir =y mmsb

B) 2y oymme

C) Guid sy

D) @adds gymme

BO. gugpGurg) w0 sllsr ek
udlsny  setanglires o)
EUSHIHED (PpILTE.

A) et B) eumil

C) g D} ewpedhis

87 . sT6060  QUEMERLITEN  @iTHaEL
diflallen et @irss srand Gelis
Sulglll @&HS susms

A) A positive B) B positive

C) O positive D) B Negative

88. g Gumid slusildimhg iy
ausdlst, oGy Gausddls, ErsmG
Eenm(plsT sl slumeeT @irempdr e
efFtidng. v Gdi 2 sramaumy)
BE s {plEaflam  Umeme  UTREET ILLOT
Elindler, ahmd: eius (pssls
{EemaTL_ g LD,

A) sluss A

B) stuss B

C) @iren( siudsEsn s Cnrsdh
{EHAmaTL_Lg (B0,

D) sefmaunen sanw Gomeams.
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84 If consider the dividing symbal instead of
multiplication, and minus symbal Instead
of addition, which ane of the following
equalion is carrect?

A} 15x5= 2+1x1+1

B) 13+7=85+3—-0+1
C) B3+7=40+16-0+1
D) 56-7=40-23+0 -1

85. Which energy is combined energies of
Polential energy and Kinetic energy

A) Electrical energy
B) Atomic energy

C) Mechanical energy
D) Heal energy

B6. When sneezing, what part of the body is it
impossible to keep opan?

A) Eyes
C) Ear

B) Mouth
D) MNosa

87. Name the blood group which is a donor
for all blood group

A} A positive
C) O positive

B) B positive
D) B Neqgative

88. A battle ship simultaneously fires two
shells al enemy ships in the same speed.
If the shells follow the parabaolic
trajectories shown, which ship gets hit
first?

A) Ship A.

B) Ship B.

C) Hey will both be hit at the same time.
) MNeed more informatlon
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89. ey Ed@Edemu agein Gumgl sreire
aumy GsuafliufGEng 7

A) siiETeL. gy demau()

B) emiustr Guomssnmdsmaro(hl

C) %inﬂgs&r;

D) swaumCirgsi

90. gypbimmsatlss Baaps alifluublsdssg
a1al?
A) samC G @Gemmfld  spdlsui
B) somCflé  spblson;
C) sawflé spfilsb
D) owGammm e fis snflanb

9. uwLrs gumilés uwsTufn i
GrudlnGlummer  sray?

A} FeuTemL m el

B) sm’iflwib;

C) b

D) E)emeuismen s

92. DDT sramiig) erstrenr?
A) @remusr oo,
B) L &dlaklsmmsab)
C) wliifler 2m’y Feag)
D) ensman&Elamsisl

93.CAR sramrm eummidemageniy DBS  srsirm
aripdlemmes VAN eTaiTn  mumTSem el
orLilly. STgginIgI?

A) WBO

C) TRAIN

94. Gordhin gman [Hlen’ mard Sl
sitlipéeaileni  win?

A) v it

B) speremaulamt

C) Elnmosilmug  mpe e,

D) pmoGmsy ST

B) BOU
D) BUS

89. What Is the gas evelved when a match
stick is cracked?

A) Carbondioxide

B) Carbonmonoxide

C) Oxygen

D) Hydrogen

a0 Which is the strongest among the acids?

A) Hydrochloric acid
B) Nilric acid

C) Sulphuric acid

D) Fluro Sulphuric acid

81. Whal is/are the imporiant chemical used
in making the crackers?

A) Sulpherdioxide

B) Cadmium

C) Led

) All the three

92. What is DDT?

A) Chemical Fertiliser

B) Pesticide

C) Nutrious food for the plant
D) Herbicide

83. If the word CAR can be written as DBS
then how will you write the word VAN 7

A)WBO B) BOU

C) TRAIN D) BUS

94. Who the was the famous tamil poet said
‘Astrology should be cursed™?

A) Bharathiar

B) Auvaiyar

C) Ramalingam Adigalar

D) Mamakkal Kavingar
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95. Gasrailfe@m Guipdsrar sflumar
LLgens GHITLGISE

O m
O
] O Ol O
OO0 O
O DL__IEI o
0 O O i
O o n I]ﬂ o
o L oy ajio o
A) Bl C) D

96. ameill Gulpen Liss Gais

895, Select Suitable option that would
complete the figure matrix

O O

O
] O O11g 0O
Q Q|10 O

O O DDD o

o ollo ol °
O m] o nlig o
o Lo oo gjio a
A) B) C) D)

86. Fill In the blank box

A)

/\

A)

97, dosEmsunneT Tl 5 a5|7

rd >
4
Wi

B)

14

c)

97. Find the diffrent..

D)

C)

D)
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A) B)

99. afl(iucL  sremer st
5
30

6 |

A) & B)15 C)18 D)48

100. efibe’s  sremr erg?

9
B - 5 > 3
7 5
v
2

a)1s b)2 c)10 d)7

16

/\

A\
O
D)

C)

89. Find the missing number
| 8
24
'3
A) 6 B)15 C)18 D)43

100. Find the missing number

-]
6 “‘/:
B 5 » 3
(4 5
]
2

a)15 b)2 c)10 d)7



